						Bob Barker Company,			*DT and Campany
						Inc. Fuquay Varina,			*BT and Company Stockbridge, GA
						NC			Stockbridge, dA
#	Item	QTY	UOM	MFG	Unit Price	Total Cost	MFG	Unit Price	Total Cost
#0-1	Floor Finish	15	Drums			\$0.00			\$0.00
#0-2	Finish & Wax Stripper	8	Drums			\$0.00			\$0.00
#0-3	All Purpose Cleaner	10	Drums			\$0.00			\$0.00
#0-4	Surface Sanitizer	10	Drums			\$0.00			\$0.00
#0-5	Laundry Detergent	10	Drums			\$0.00			\$0.00
#0-6	Laundry Alkali	10	Drums			\$0.00			\$0.00
#0-7	All Purpose Cleaner	100	Cases			\$0.00			\$0.00
#0-8	All Purpose Cleaner	100	Cases			\$0.00			\$0.00
#0-9	Germicidal Cleaner	10	Drums			\$0.00			\$0.00
#0-10	Spot Cleaner & Degreaser	25	Cases			\$0.00			\$0.00
#0-11	Multi Surface Protectant	10	Cases			\$0.00			\$0.00
#0-12	Surface Disinfectant Cleaner	200	Pails			\$0.00			\$0.00
#0-13	Hard Surface Disinfectant Wipes	150	Cases			\$0.00			\$0.00
#0-14	Dish Detergent	100	Cases			\$0.00			\$0.00
#0-15	Rinse Aid	40	Pails			\$0.00			\$0.00
#0-16	All Temperature Detergent	30	Pails			\$0.00			\$0.00
#0-17	Graffiti Remover	20	Cases			\$0.00			\$0.00
#0-18	Odor Control	250	Cases			\$0.00			\$0.00
#0-19	Crème Cleanser	20	Cases			\$0.00			\$0.00
#0-20	Glass Cleaner	10	Cases			\$0.00			\$0.00
#0-21	High Capacity Roll Towels	250	Cases			\$0.00			\$0.00
#0-22	Odor Hound - Gel	50	Cases	Odor Hound	\$64.17	\$3,208.50			\$0.00
#0-23	Odor Hound - Spray	50	Cases	Odor Hound	\$53.13	\$2,656.50			\$0.00
#0-24	Delimer	20	Cases			\$0.00			\$0.00
#0-25	Oven Cleaner	10	Cases			\$0.00			\$0.00
#0-26	Degreaser	20	Cases			\$0.00			\$0.00
#0-27	Disposable Towels	100	Cases			\$0.00			\$0.00
#0-28	Compartment Tray	1000	Cases			\$0.00			\$0.00
#0-29	Translucent Cup - 5 oz.	50	Cases			\$0.00			\$0.00
#0-30	Styrofoam Cup - 8 oz.	200	Cases			\$0.00			\$0.00
#0-31	Styrofoam Cup - 16 oz.	100	Cases			\$0.00			\$0.00
#0-32	Cup Lid - 16 oz.	50	Cases			\$0.00			\$0.00

	BID DUE. UCTUBER 12, A					Bob Barker Company, Inc. Fuquay Varina, NC			*BT and Company Stockbridge, GA
#	ltem	QTY	UOM	MFG	<b>Unit Price</b>	Total Cost	MFG	<b>Unit Price</b>	Total Cost
#0-33	Styrofoam Bowl - 8 oz.	50	Cases			\$0.00			\$0.00
#0-34	Styrofoam Bowl - 12 oz.	30	Cases			\$0.00			\$0.00
#0-35	Bowl Lid - 8 oz.	50	Cases			\$0.00			\$0.00
#0-36	Bowl Lid - 12 oz.	30	Cases			\$0.00			\$0.00
#0-37	Spoons - Extra Heavy Weight	20	Cases			\$0.00			\$0.00
#0-38	Forks - Extra Heavy Weight	50	Cases			\$0.00			\$0.00
#0-39	Deli Paper	150	Cases			\$0.00			\$0.00
#0-40	Hand Sanitizer	20	Cases			\$0.00			\$0.00
#0-41	Antibacterial Hand Soap	50	Cases			\$0.00			\$0.00
#0-42	Hand Sanitizing Wipes (Alcohol)	40	Cases			\$0.00			\$0.00
#0-43	Hand Sanitizing Wipes (Alcohol Free)	150	Cases			\$0.00			\$0.00
#0-44	Wringer/Bucket Combo	20	Each			\$0.00			\$0.00
#0-45	Wet Floor Sign	25	Each			\$0.00			\$0.00
#0-46	Scrubbing Pad - Green	30	Cases			\$0.00			\$0.00
#0-47	Floor Polishing Pad - Natural	120	Cases			\$0.00			\$0.00
#0-48	Floor Polishing Pad - White	120	Cases			\$0.00			\$0.00
#0-49	Floor Stripping Pad - Black	120	Cases			\$0.00			\$0.00
#0-50	Brush Handle	60	Each			\$0.00			\$0.00
#0-51	Deck Brush	96	Each			\$0.00			\$0.00
#0-52	Scrub Brush	96	Each			\$0.00			\$0.00
#0-53	Toilet Bowl Brush	25	Each			\$0.00			\$0.00
#0-54	Broom - Large Angle	150	Each			\$0.00			\$0.00
#0-55	Dust Pan	50	Each			\$0.00			\$0.00
#0-56	Dust Mop Head	55	Cases			\$0.00	Rubbermaid	\$68.00	\$3,740.00
#0-57	Dust Mop Frame	55	Cases			\$0.00			\$0.00
#0-58	Storage Bag - Small	100	Cases			\$0.00	Uline	\$23.00	\$2,300.00
#0-59	Storage Bag - Medium	100	Cases			\$0.00	Uline	\$37.00	\$3,700.00
#0-60	Storage Bag - Large	100	Cases			\$0.00	Uline	\$57.00	\$5,700.00
#0-61	Batteries - AA	10	Cases			\$0.00	Duracell	\$66.00	\$660.00
#0-62	Batteries - AAA	10	Cases			\$0.00	Duracell	\$56.00	\$560.00

						Bob Barker Company, Inc. Fuquay Varina, NC			*BT and Company Stockbridge, GA
#	ltem	QTY	UOM	MFG	<b>Unit Price</b>	Total Cost	MFG	<b>Unit Price</b>	<b>Total Cost</b>
#0-63	Batteries - C	10	Cases			\$0.00	Duracell	\$69.00	\$690.00
#0-64	Batteries - D	6	Cases			\$0.00	Duracell	\$90.00	\$540.00
#0-65	Batteries - 9V	6	Cases			\$0.00	Duracell	\$94.00	\$564.00
#0-66	Inmate Wristband	30	Cases			\$0.00	PDC	\$383.00	\$11,490.00

						*Codex Corporation / Guardian RFID Maple Grove, MN			*General Workforce, Inc. Ozone Park, NY
#	Item	QTY	UOM	MFG	Unit Price	Total Cost	MFG	Unit Price	Total Cost
#0-1	Floor Finish	15	Drums			\$0.00			\$0.00
#0-2	Finish & Wax Stripper	8	Drums			\$0.00			\$0.00
#0-3	All Purpose Cleaner	10	Drums			\$0.00	Spartan	\$834.26	\$8,342.60
#0-4	Surface Sanitizer	10	Drums			\$0.00	Spartan	\$1,848.77	\$18,487.70
#0-5	Laundry Detergent	10	Drums			\$0.00			\$0.00
#0-6	Laundry Alkali	10	Drums			\$0.00	Spartan	\$1,848.77	\$18,487.70
#0-7	All Purpose Cleaner	100	Cases			\$0.00	Spartan	\$195.61	\$19,561.00
#0-8	All Purpose Cleaner	100	Cases			\$0.00	Spartan	\$184.82	\$18,482.00
#0-9	Germicidal Cleaner	10	Drums			\$0.00			\$0.00
#0-10	Spot Cleaner & Degreaser	25	Cases			\$0.00			\$0.00
#0-11	Multi Surface Protectant	10	Cases			\$0.00			\$0.00
#0-12	Surface Disinfectant Cleaner	200	Pails			\$0.00	Spartan	\$175.64	\$35,128.00
#0-13	Hard Surface Disinfectant Wipes	150	Cases			\$0.00	Spartan	\$189.48	\$28,422.00
#0-14	Dish Detergent	100	Cases			\$0.00	Spartan	\$100.00	\$10,000.00
#0-15	Rinse Aid	40	Pails			\$0.00	Spartan	\$295.00	\$11,800.00
#0-16	All Temperature Detergent	30	Pails			\$0.00	Spartan	\$369.45	\$11,083.50
#0-17	Graffiti Remover	20	Cases			\$0.00			\$0.00
#0-18	Odor Control	250	Cases			\$0.00			\$0.00
#0-19	Crème Cleanser	20	Cases			\$0.00		_	\$0.00
#0-20	Glass Cleaner	10	Cases			\$0.00	Spartan	\$130.00	\$1,300.00
#0-21	High Capacity Roll Towels	250	Cases			\$0.00			\$0.00

						*Codex Corporation / Guardian RFID Maple Grove, MN			*General Workforce, Inc. Ozone Park, NY
#	Item	QTY	UOM	MFG	Unit Price	Total Cost	MFG	Unit Price	Total Cost
#0-22	Odor Hound - Gel	50	Cases			\$0.00			\$0.00
#0-23	Odor Hound - Spray	50	Cases			\$0.00			\$0.00
#0-24	Delimer	20	Cases			\$0.00			\$0.00
#0-25	Oven Cleaner	10	Cases			\$0.00			\$0.00
#0-26	Degreaser	20	Cases			\$0.00			\$0.00
#0-27	Disposable Towels	100	Cases			\$0.00			\$0.00
#0-28	Compartment Tray	1000	Cases			\$0.00			\$0.00
#0-29	Translucent Cup - 5 oz.	50	Cases			\$0.00			\$0.00
#0-30	Styrofoam Cup - 8 oz.	200	Cases			\$0.00	Dart	\$95.61	\$19,122.00
#0-31	Styrofoam Cup - 16 oz.	100	Cases			\$0.00	Dart	\$181.93	\$18,193.00
#0-32	Cup Lid - 16 oz.	50	Cases			\$0.00	Dart	\$90.69	\$4,534.50
#0-33	Styrofoam Bowl - 8 oz.	50	Cases			\$0.00			\$0.00
#0-34	Styrofoam Bowl - 12 oz.	30	Cases			\$0.00			\$0.00
#0-35	Bowl Lid - 8 oz.	50	Cases			\$0.00			\$0.00
#0-36	Bowl Lid - 12 oz.	30	Cases			\$0.00			\$0.00
#0-37	Spoons - Extra Heavy Weight	20	Cases			\$0.00			\$0.00
#0-38	Forks - Extra Heavy Weight	50	Cases			\$0.00			\$0.00
#0-39	Deli Paper	150	Cases			\$0.00			\$0.00
#0-40	Hand Sanitizer	20	Cases			\$0.00	Kimberly	\$205.00	\$4,100.00
#0-41	Antibacterial Hand Soap	50	Cases			\$0.00	Kimberly Clark	\$200.00	\$10,000.00
#0-42	Hand Sanitizing Wipes (Alcohol)	40	Cases			\$0.00	Professional Dispoables	\$125.00	\$5,000.00
#0-43	Hand Sanitizing Wipes (Alcohol Free)	150	Cases			\$0.00	Professional	\$250.00	\$37,500.00
#0-44	Wringer/Bucket Combo	20	Each			\$0.00			\$0.00
#0-45	Wet Floor Sign	25	Each			\$0.00			\$0.00
#0-46	Scrubbing Pad - Green	30	Cases			\$0.00			\$0.00
#0-47	Floor Polishing Pad - Natural	120	Cases			\$0.00			\$0.00
#0-48	Floor Polishing Pad - White	120	Cases			\$0.00			\$0.00
#0-49	Floor Stripping Pad - Black	120	Cases			\$0.00			\$0.00
#0-50	Brush Handle	60	Each			\$0.00			\$0.00
#0-51	Deck Brush	96	Each			\$0.00			\$0.00

						*Codex Corporation / Guardian RFID Maple Grove, MN			*General Workforce, Inc. Ozone Park, NY
#	Item	QTY	UOM	MFG	Unit Price	Total Cost	MFG	Unit Price	Total Cost
#0-52	Scrub Brush	96	Each			\$0.00			\$0.00
#0-53	Toilet Bowl Brush	25	Each			\$0.00			\$0.00
#0-54	Broom - Large Angle	150	Each			\$0.00			\$0.00
#0-55	Dust Pan	50	Each			\$0.00			\$0.00
#0-56	Dust Mop Head	55	Cases			\$0.00			\$0.00
#0-57	Dust Mop Frame	55	Cases			\$0.00			\$0.00
#0-58	Storage Bag - Small	100	Cases			\$0.00			\$0.00
#0-59	Storage Bag - Medium	100	Cases			\$0.00			\$0.00
#0-60	Storage Bag - Large	100	Cases			\$0.00			\$0.00
#0-61	Batteries - AA	10	Cases			\$0.00			\$0.00
#0-62	Batteries - AAA	10	Cases			\$0.00			\$0.00
#0-63	Batteries - C	10	Cases			\$0.00			\$0.00
#0-64	Batteries - D	6	Cases			\$0.00			\$0.00
#0-65	Batteries - 9V	6	Cases			\$0.00			\$0.00
#0-66	Inmate Wristband	30	Cases	Clincher	\$700.00	\$21,000.00			\$0.00

						*Malor Company, Inc. New York, NY			Paper Chemical Supply Company a Division of Imperial Dade Savannah, GA
#	Item	QTY	UOM	MFG	Unit Price	Total Cost	MFG	Unit Price	Total Cost
#0-1	Floor Finish	15	Drums			\$0.00	Spartan	\$990.00	\$14,850.00
#0-2	Finish & Wax Stripper	8	Drums			\$0.00	Spartan	\$675.00	\$5,400.00
#0-3	All Purpose Cleaner	10	Drums			\$0.00	Spartan	\$269.00	\$2,690.00
#0-4	Surface Sanitizer	10	Drums			\$0.00	Spartan	\$235.00	\$2,350.00
#0-5	Laundry Detergent	10	Drums			\$0.00	Spartan	\$995.00	\$9,950.00
#0-6	Laundry Alkali	10	Drums			\$0.00	Spartan	\$620.00	\$6,200.00
#0-7	All Purpose Cleaner	100	Cases			\$0.00	Spartan	\$45.00	\$4,500.00
#0-8	All Purpose Cleaner	100	Cases			\$0.00	Spartan	\$42.00	\$4,200.00

									Paper Chemical
						*Malor Company,			Supply Company a
						Inc.			Division of Imperial
						New York, NY			Dade
									Savannah, GA
#	Item	QTY	UOM	MFG	Unit Price	Total Cost	MFG	Unit Price	Total Cost
#0-9	Germicidal Cleaner	10	Drums			\$0.00	Spartan	\$197.00	\$1,970.00
#0-10	Spot Cleaner & Degreaser	25	Cases			\$0.00	Spartan	\$62.40	\$1,560.00
#0-11	Multi Surface Protectant	10	Cases			\$0.00	Spartan	\$145.00	\$1,450.00
#0-12	Surface Disinfectant Cleaner	200	Pails			\$0.00	Spartan	\$68.00	\$13,600.00
#0-13	Hard Surface Disinfectant Wipes	150	Cases			\$0.00	Spartan	\$58.00	\$8,700.00
#0-14	Dish Detergent	100	Cases			\$0.00	Spartan	\$68.00	\$6,800.00
#0-15	Rinse Aid	40	Pails			\$0.00	Spartan	\$108.00	\$4,320.00
#0-16	All Temperature Detergent	30	Pails			\$0.00	Spartan	\$98.00	\$2,940.00
#0-17	Graffiti Remover	20	Cases			\$0.00	Spartan	\$94.80	\$1,896.00
#0-18	Odor Control	250	Cases			\$0.00	Spartan	\$65.60	\$16,400.00
#0-19	Crème Cleanser	20	Cases			\$0.00	Husky	\$48.00	\$960.00
#0-20	Glass Cleaner	10	Cases			\$0.00	SC Johnson	\$32.90	\$329.00
#0-21	High Capacity Roll Towels	250	Cases	Durables	\$100.00	\$25,000.00	Ga Pacific	\$58.60	\$14,650.00
#0-22	Odor Hound - Gel	50	Cases			\$0.00			\$0.00
#0-23	Odor Hound - Spray	50	Cases			\$0.00			\$0.00
#0-24	Delimer	20	Cases			\$0.00	Victoria Bay	\$58.00	\$1,160.00
#0-25	Oven Cleaner	10	Cases			\$0.00	Victoria Bay	\$62.40	\$624.00
#0-26	Degreaser	20	Cases			\$0.00	GLH	\$56.80	\$1,136.00
#0-27	Disposable Towels	100	Cases	Durables	\$70.00	\$7,000.00	Ga Pacific	\$72.00	\$7,200.00
#0-28	Compartment Tray	1000	Cases			\$0.00	PacTiv	\$31.54	\$31,540.00
#0-29	Translucent Cup - 5 oz.	50	Cases			\$0.00	Fabri-Kal	\$66.90	\$3,345.00
#0-30	Styrofoam Cup - 8 oz.	200	Cases			\$0.00	Convermex	\$42.90	\$8,580.00
#0-31	Styrofoam Cup - 16 oz.	100	Cases			\$0.00	Convermex	\$43.54	\$4,354.00
#0-32	Cup Lid - 16 oz.	50	Cases			\$0.00	Convermex	\$38.90	\$1,945.00
#0-33	Styrofoam Bowl - 8 oz.	50	Cases			\$0.00	Convermex	\$86.20	\$4,310.00
#0-34	Styrofoam Bowl - 12 oz.	30	Cases			\$0.00	Convermex	\$106.06	\$3,181.80
#0-35	Bowl Lid - 8 oz.	50	Cases			\$0.00	Convermex	\$51.60	\$2,580.00
#0-36	Bowl Lid - 12 oz.	30	Cases			\$0.00	Convermex	\$38.72	\$1,161.60
#0-37	Spoons - Extra Heavy Weight	20	Cases			\$0.00	Nutri-Bon	\$34.80	\$696.00
#0-38	Forks - Extra Heavy Weight	50	Cases			\$0.00	Nutri-Bon	\$34.80	\$1,740.00
#0-39	Deli Paper	150	Cases			\$0.00	Handi-Wacks	\$73.90	\$11,085.00

									Paper Chemical
						*Malor Company,			Supply Company a
						Inc.			Division of Imperial
						New York, NY			Dade
									Savannah, GA
#	ltem	QTY	UOM	MFG	Unit Price	Total Cost	MFG	Unit Price	Total Cost
#0-40	Hand Sanitizer	20	Cases			\$0.00	Kimberly Clark	\$98.00	\$1,960.00
#0-41	Antibacterial Hand Soap	50	Cases	Durables	\$30.00	\$1,500.00	Kimberly Clark	\$59.90	\$2,995.00
#0-42	Hand Sanitizing Wipes (Alcohol)	40	Cases	Durables	\$33.00	\$1,320.00	Sani-Hands	\$56.68	\$2,267.20
#0-43	Hand Sanitizing Wipes (Alcohol Free)	150	Cases	Durables	\$34.00	\$5,100.00	Wipes Plus	\$96.80	\$14,520.00
#0-44	Wringer/Bucket Combo	20	Each			\$0.00	Janico	\$118.00	\$2,360.00
#0-45	Wet Floor Sign	25	Each			\$0.00	Better Brush	\$7.98	\$199.50
#0-46	Scrubbing Pad - Green	30	Cases			\$0.00	Royal Paper	\$24.90	\$747.00
#0-47	Floor Polishing Pad - Natural	120	Cases			\$0.00	ACS	\$19.78	\$2,373.60
#0-48	Floor Polishing Pad - White	120	Cases			\$0.00	ACS	\$18.90	\$2,268.00
#0-49	Floor Stripping Pad - Black	120	Cases			\$0.00	ACS	\$18.90	\$2,268.00
#0-50	Brush Handle	60	Each			\$0.00	Better Brush	\$4.60	\$276.00
#0-51	Deck Brush	96	Each			\$0.00	Better Brush	\$4.84	\$464.64
#0-52	Scrub Brush	96	Each			\$0.00	Better Brush	\$1.79	\$171.84
#0-53	Toilet Bowl Brush	25	Each			\$0.00	Rubbermaid	\$1.69	\$42.25
#0-54	Broom - Large Angle	150	Each			\$0.00	Better Brush	\$7.98	\$1,197.00
#0-55	Dust Pan	50	Each			\$0.00	Rubbermaid	\$1.95	\$97.50
#0-56	Dust Mop Head	55	Cases			\$0.00	Rubbermaid	\$22.80	\$1,254.00
#0-57	Dust Mop Frame	55	Cases			\$0.00	Tuway	\$258.00	\$14,190.00
#0-58	Storage Bag - Small	100	Cases			\$0.00			\$0.00
#0-59	Storage Bag - Medium	100	Cases			\$0.00			\$0.00
#0-60	Storage Bag - Large	100	Cases			\$0.00			\$0.00
#0-61	Batteries - AA	10	Cases			\$0.00	Duracell	\$65.04	\$650.40
#0-62	Batteries - AAA	10	Cases			\$0.00	Duracell	\$65.04	\$650.40
#0-63	Batteries - C	10	Cases			\$0.00	Duracell	\$79.84	\$798.40
#0-64	Batteries - D	6	Cases			\$0.00	Duracell	\$91.44	\$548.64
#0-65	Batteries - 9V	6	Cases			\$0.00	Duracell	\$119.60	\$717.60
#0-66	Inmate Wristband	30	Cases			\$0.00			\$0.00

						Pyramind School Products Tampa, FL			Staples Advantage Savannah, GA
#	Item	QTY	UOM	MFG	Unit Price	Total Cost	MFG	Unit Price	Total Cost
#0-1	Floor Finish	15	Drums			\$0.00			\$0.00
#0-2	Finish & Wax Stripper	8	Drums			\$0.00			\$0.00
#0-3	All Purpose Cleaner	10	Drums			\$0.00			\$0.00
#0-4	Surface Sanitizer	10	Drums			\$0.00			\$0.00
#0-5	Laundry Detergent	10	Drums			\$0.00			\$0.00
#0-6	Laundry Alkali	10	Drums			\$0.00			\$0.00
#0-7	All Purpose Cleaner	100	Cases			\$0.00			\$0.00
#0-8	All Purpose Cleaner	100	Cases			\$0.00			\$0.00
#0-9	Germicidal Cleaner	10	Drums			\$0.00			\$0.00
#0-10	Spot Cleaner & Degreaser	25	Cases			\$0.00			\$0.00
#0-11	Multi Surface Protectant	10	Cases			\$0.00			\$0.00
#0-12	Surface Disinfectant Cleaner	200	Pails			\$0.00			\$0.00
#0-13	Hard Surface Disinfectant Wipes	150	Cases			\$0.00			\$0.00
#0-14	Dish Detergent	100	Cases			\$0.00			\$0.00
#0-15	Rinse Aid	40	Pails			\$0.00			\$0.00
#0-16	All Temperature Detergent	30	Pails			\$0.00			\$0.00
#0-17	Graffiti Remover	20	Cases			\$0.00			\$0.00
#0-18	Odor Control	250	Cases			\$0.00			\$0.00
#0-19	Crème Cleanser	20	Cases			\$0.00			\$0.00
#0-20	Glass Cleaner	10	Cases			\$0.00	SC JOHNSON & SONS	\$63.48	\$634.80
#0-21	High Capacity Roll Towels	250	Cases			\$0.00	GA PACIFIC COMMERCIA	\$75.59	\$18,897.50
#0-22	Odor Hound - Gel	50	Cases			\$0.00			\$0.00
#0-23	Odor Hound - Spray	50	Cases			\$0.00			\$0.00
#0-24	Delimer	20	Cases			\$0.00			\$0.00
#0-25	Oven Cleaner	10	Cases			\$0.00			\$0.00
#0-26	Degreaser	20	Cases			\$0.00	Coastwide - Staples	\$70.59	\$1,411.80
#0-27	Disposable Towels	100	Cases	GP	\$141.98	\$14,198.00	GA PACIFIC COMMERCIA	\$89.99	\$8,999.00
#0-28	Compartment Tray	1000	Cases			\$0.00	DART CONTAINER	\$58.34	\$58,340.00

						Pyramind School			Staples Advantage
						Products Tampa, FL			Savannah, GA
#	Item	QTY	UOM	MFG	Unit Price	Total Cost	MFG	Unit Price	Total Cost
#0-29	Translucent Cup - 5 oz.	50	Cases			\$0.00	DART CONTAINER	\$146.99	\$7,349.50
#0-30	Styrofoam Cup - 8 oz.	200	Cases			\$0.00	DART CONTAINER	\$47.19	\$9,438.00
#0-31	Styrofoam Cup - 16 oz.	100	Cases			\$0.00	DART CONTAINER	\$110.90	\$11,090.00
#0-32	Cup Lid - 16 oz.	50	Cases			\$0.00	DART CONTAINER	\$44.98	\$2,249.00
#0-33	Styrofoam Bowl - 8 oz.	50	Cases			\$0.00	DART CONTAINER	\$98.98	\$4,949.00
#0-34	Styrofoam Bowl - 12 oz.	30	Cases			\$0.00	SOLO CUP	\$97.29	\$2,918.70
#0-35	Bowl Lid - 8 oz.	50	Cases			\$0.00			\$0.00
#0-36	Bowl Lid - 12 oz.	30	Cases			\$0.00			\$0.00
#0-37	Spoons - Extra Heavy Weight	20	Cases			\$0.00	STAPLES BRAND	\$33.80	\$676.00
#0-38	Forks - Extra Heavy Weight	50	Cases			\$0.00	STAPLES BRAND	\$33.80	\$1,690.00
#0-39	Deli Paper	150	Cases			\$0.00			\$0.00
#0-40	Hand Sanitizer	20	Cases	Kimberly Clark	\$139.98	\$2,799.60	KIMBERLY CLARK	\$79.99	\$1,599.80
#0-41	Antibacterial Hand Soap	50	Cases	Kimberly Clark	\$99.98	\$4,999.00	KIMBERLY CLARK	\$60.49	\$3,024.50
#0-42	Hand Sanitizing Wipes (Alcohol)	40	Cases	Sani Hands	\$79.98	\$3,199.20	UNIMED	\$64.59	\$2,583.60
#0-43	Hand Sanitizing Wipes (Alcohol Free)	150	Cases			\$0.00			\$0.00
#0-44	Wringer/Bucket Combo	20	Each	ABCO	\$69.98	\$1,399.60	STAPLES BRAND	\$65.49	\$1,309.80
#0-45	Wet Floor Sign	25	Each	ABCO	\$7.98	\$199.50	STAPLES BRAND	\$8.35	\$208.75
#0-46	Scrubbing Pad - Green	30	Cases	ACS	\$15.98	\$479.40	STAPLES BRAND	\$35.94	\$1,078.20
#0-47	Floor Polishing Pad - Natural	120	Cases	ACS	\$12.98	\$1,557.60	3M CORP	\$18.99	\$2,278.80

						<b>Pyramind School</b>			Staples Advantage
						Products			Savannah, GA
						Tampa, FL			Savailliali, GA
#	ltem	QTY	UOM	MFG	Unit Price	Total Cost	MFG	Unit Price	Total Cost
#0-48	Floor Polishing Pad - White	120	Cases	ACS	\$13.39	\$1,606.80	3M CORP	\$18.59	\$2,230.80
#0-49	Floor Stripping Pad - Black	120	Cases	ACS	\$13.39	\$1,606.80	3M CORP	\$53.69	\$6,442.80
#0-50	Brush Handle	60	Each	ABCO	\$2.99	\$179.40	STAPLES BRAND	\$4.49	\$269.40
#0-51	Deck Brush	96	Each	ABCO	\$3.99	\$383.04	ODELL CORP	\$8.99	\$863.04
#0-52	Scrub Brush	96	Each	ABCO	\$1.69	\$162.24	STAPLES BRAND	\$2.99	\$287.04
#0-53	Toilet Bowl Brush	25	Each	Rubbermaid	\$1.99	\$49.75	RUBBERMAID	\$2.08	\$52.00
#0-54	Broom - Large Angle	150	Each	ABCO	\$4.99	\$748.50	STAPLES BRAND	\$10.20	\$1,530.00
#0-55	Dust Pan	50	Each	Rubbermaid	\$2.29	\$114.50	STAPLES BRAND	\$3.89	\$194.50
#0-56	Dust Mop Head	55	Cases	Rubbermaid	\$113.88	\$6,263.40	RUBBERMAID	\$185.79	\$10,218.45
#0-57	Dust Mop Frame	55	Cases	Tuway	\$191.94	\$10,556.70			\$0.00
#0-58	Storage Bag - Small	100	Cases			\$0.00	LADDAWN PRODUCTS	\$14.39	\$1,439.00
#0-59	Storage Bag - Medium	100	Cases			\$0.00	LADDAWN PRODUCTS	\$24.44	\$2,444.00
#0-60	Storage Bag - Large	100	Cases			\$0.00	LADDAWN PRODUCTS	\$53.84	\$5,384.00
#0-61	Batteries - AA	10	Cases	Energizer	\$51.84	\$518.40	DURACELL	\$74.28	\$742.80
#0-62	Batteries - AAA	10	Cases	Energizer	\$50.40	\$504.00	DURACELL	\$77.16	\$771.60
#0-63	Batteries - C	10	Cases	Energizer	\$48.96	\$489.60	DURACELL	\$57.54	\$575.40
#0-64	Batteries - D	6	Cases	Energizer	\$70.56	\$423.36	DURACELL	\$72.90	\$437.40
#0-65	Batteries - 9V	6	Cases	Energizer	\$80.64	\$483.84	DURACELL	\$132.54	\$795.24
#0-66	Inmate Wristband	30	Cases			\$0.00			\$0.00

\*MBE

\*\*WBE